## OLIVEHURST PUBLIC UTILITY DISTRICT - OVERTIME REPORT FOR THE FOR THE WORK OF SEPTEMBER 2020

DATE	DAY	HOURS	EMPLOYEE	TIME	DESCRIPTION
08/25/20	Tuesday	24.00	Aust, H	8:00 AM	Strike team coverage
09/05/20	Saturday	4.00	Castillo, R		A/C out at PL WTP
08/30/20	Sunday	2.00	Duncan, D	8:00 PM	Emergency - Lift station 16 power failure to level controls
09/01/20	Tuesday	24.00	Fisher, J	8:00 AM	Strike team coverage
08/25/20	Tuesday	11.00	Galluzzo, J	8:00 AM	Strike team coverage
08/27/20	Thursday	1.00	Jackson, P	3:00 PM	1587 Hickory - water leak
08/28/20	Friday	1.00	Jackson, P	3:00 PM	Plumas Lake turn-on
09/01/20	Tuesday	24.00	Kopas, D	8:00 AM	Strike team coverage
08/25/20	Tuesday	24.00	Galluzzo, J	8:00 AM	Strike team coverage
09/01/20	Tuesday	1.00	Menchaca, L	4:00 PM	Parks Committee
08/24/20	Monday	24.00	Miller, R	8:00 AM	Strike team coverage
08/30/20	Sunday	10.00	Miller, R	8:00 AM	Strike team coverage
09/02/20	Wednesday	24.00	Miller, R	8:00 AM	Strike team coverage
08/26/20	Wednesday	1.00	Phillips, J	12:00 PM	Mgr Request - Inspection Ardmore sewer lateral main connect
08/27/20	Thursday	0.50	Phillips, J	12:30 PM	Water leak 1587 Hickory
08/28/20	Friday	0.50	Phillips, J	12:30 PM	Inspect Ardmore project
09/01/20	Tuesday	2.00	Phillips, J	7:00 PM	Telesec - 1633 3rd t-off
09/06/20	Sunday	2.00	Phillips, J	7:00 PM	Telesec - 4571 Ardmore t-off for repairs
08/30/20	Sunday	2.00	Pomeroy, N	6:42 PM	SCADA - Gold Village influent communication fail
09/01/20	Tuesday	2.00	Pomeroy, N	3:48 PM	SCADA - OPUD WWTF PLC 45 fail
09/02/20	Wednesday	2.00	Pomeroy, N	4:13 AM	SCADA - OPUD WWTF low UVT alarm callout
09/02/20	Wednesday	2.00	Pomeroy, N	5:57 PM	SCADA - OPUD WWTF EFF turbidity high level callout
09/03/20	Thursday	2.00	Pomeroy, N	1:17 AM	SCADA - low UVT callout
08/24/20	Monday	24.00	Ramos, C	8:00 AM	Strike team coverage
08/30/20	Sunday	10.00	Ramos, C	8:00 AM	Strike team coverage
08/25/20	Tuesday	2.00	Ramos, C	7:00 PM	Drill
09/02/20	Wednesday	24.00	Ramos, C	8:00 AM	Strike team coverage
09/11/20	Friday	1.00	Aust, H	1:00 PM	Grass fire
09/15/20	Tuesday	24.00	Aust, H	8:00 AM	Strike team coverage
09/07/20	Monday	3.00	Castillo, R	7:00 AM	Mgr Request - Check well sites
09/08/20	Tuesday	2.00	Castillo, R	6:30 PM	Fire hydrant hit at Sabine Court
09/12/20	Saturday	2.00	Castillo, R		Water leak at 1424 High Noon
09/13/20	Sunday	2.00	Castillo, R		4724 Western - water main
09/13/20	Sunday	4.00	Rodriguez, G	8:00 AM	4300 block of Western ran VacCon to dig up water main
09/07/20	Monday	24.00	Fisher, J	8:00 AM	Strike team coverage
09/08/20	Tuesday	2.00	Fisher, J	7:00 PM	Drill
09/09/20	Wednesday	3.00	Fisher, J	5:00 AM	Station coverage
09/10/20	Thursday	24.00	Fisher, J	8:00 AM	Strike team coverage
09/15/20	Tuesday	24.00	Galluzzo, J	8:00 AM	Strike team coverage

09/07/20	Monday	24.00	Kopas, D	8:00 AM	Strike team coverage
09/09/20	Wednesday	3.00	Kopas, D	5:00 PM	Station coverage
09/09/20	Wednesday	24.00	Kopas, D	8:00 AM	Strike team coverage
09/10/20	Thursday	24.00	Kopas, D	8:00 AM	Strike team coverage
09/16/20	Wednesday	24.00	Kopas, D	8:00 AM	Strike team coverage
09/08/20	Tuesday	0.50	Phillips, J	12:30 PM	Mgr Request - Inspection Ardmore water & sewer laterals
09/09/20	Wednesday	1.00	Phillips, J	12:00 PM	Mgr Request - Lower water service at 4680 Ardmore
09/10/20	Thursday	0.50	Phillips, J	12:30 PM	Mgr Request - Inspection Ardmore water & sewer laterals
09/11/20	Friday	1.00	Phillips, J	12:00 PM	Mgr Request - Inspection Ardmore sewer lateral main connect
09/13/20	Sunday	4.00	Phillips, J	12:00 PM	Telesec - Water main break 4724 Western Avenue
09/14/20	Monday	1.00	Phillips, J	8:00 AM	Water main break 1755 Oxford and 1730 Notting Hill
09/07/20	Monday	5.00	Pomeroy, N	6:00 AM	Telesec - OPUD & Gold Village WWTF Holiday Coverage
09/14/20	Monday	2.00	Pomeroy, N	4:03 AM	Telesec - Gold Village WWTF low permability callout
09/08/20	Tuesday	6.00	Ramos, C	8:00 AM	Strike team coverage
09/08/20	Tuesday	6.00	Miller, R	8:00 AM	Strike team coverage
09/12/20	Saturday	4.00	Rodriguez, G	8:00 AM	Water main leak 4680 Ardmore Avenue
09/14/20	Monday	0.50	Rodriguez, G	4:00 PM	Mgr Request - Air gap inspection PL gas station
09/16/20	Wednesday	2.00	Rodriguez, G	5:13 PM	Alarm at Mary Avenue
09/17/20	Thursday	0.50	Rodriguez, G	12:30 PM	Met Wright One Electric at Well 28
09/18/20	Friday	2.00	Rodriguez, G	9:00 PM	Mgr Request - 3 backflow and meter UPS Furneau Road
09/09/20	Wednesday	2.00	Teal, L	8:00 PM	Called for OPUD SCADA
09/11/20	Friday	2.00	Teal, L	3:45 PM	Called for OPUD SCADA
09/12/20	Saturday	2.00	Teal, L	2:00 PM	Called for OPUD SCADA
				4	
	Total:	506.00			

Total:	506.00

DATE	DAY	HOURS	EMPLOYEE	TIME	DESCRIPTION
08/26/20	Wednesday	2.00	O'Rourke, B	4:00 PM	
08/24/20	Monday	2.00	Prather, D	10:01 PM	SCADA - WWTF callout PLC #45
09/01/20	Tuesday	1.50	Ritchie, B	4:00 PM	Parks and Fire Committee Meeting
09/02/20	Wednesday	1.25	Ritchie, B	5:15 PM	Water and Wastewater Committee Meeting
08/26/20	Wednesday	0.50	Rodriguez, G	12:30 PM	Hydrant leaking on Melody Road
09/09/20	Wednesday	1.00	Jackson, P	11:00 AM	Mgr Request - Repair 1" service line 4680 Ardmore
09/12/20	Saturday	4.00	Jackson, P	8:00 AM	Mgr Request - Repair main 4744 Western
09/14/20	Monday	1.00	Jackson, P	11:00 AM	Mgr Request - Repair service line leak on Oxford
09/19/20	Saturday	2.00	Jackson, P	10:39 AM	Telesec - Sprinkler on Wheeler Ranch Park
09/19/20	Saturday	2.00	Jackson, P	1:43 PM	Telesec - Alarm at Mary Avenue
09/19/20	Saturday	2.00	Jackson, P	9:34 PM	Telesec - Fire hydrant hit Powerline and Turpin
09/20/20	Sunday	2.00	Jackson, P	3:29 AM	Telesec - T-on 1222 Plumas Links

09/20/19	Friday	2.00	Jackson, P	3:27 PM	Telesec - Alarm at Mary Avenue
09/17/20	Thursday	2.00	Ritchie, B	6:30 PM	Board meeting
	Total:	25.25			

	HOURS	WAGES	TOTAL	EMPLOYEE
[	49.00	\$26.45	\$ 1,296.05	Aust, H
	-	\$35.79	\$ -	Bechtel, E
	13.00	\$35.42	\$ 460.46	Castillo, R
Γ	-	\$35.81	\$ -	Collison, A
Γ	2.00	\$25.64	\$ 51.28	Duncan, D
	77.00	\$29.19	\$ 2,247.63	Fisher, J
	59.00	\$29.19	\$ 1,722.21	Galluzzo, J
	18.00	\$22.41	\$ 403.38	Jackson, P
	123.00	\$29.19	\$ 3,590.37	Kopas, D
	-	\$33.51	\$ -	Lauff, R
	-	\$29.91	\$ -	Lewis, A
	-	\$21.68	\$ -	MacDonald, B
	1.00	\$38.33	\$ 38.33	Menchaca, L
F	-	\$44.75	\$ -	Koller, S
	64.00	\$23.15	\$ 1,481.60	Miller, R
	-	\$46.56	\$ -	Morris, C
	-	\$29.19	\$ -	Murray, L
	-	\$25.26	\$ -	Nielsen, D
	2.00	\$30.23	\$ 60.46	O'Rourke, B
	14.00	\$28.88	\$ 404.32	Phillips, J
	17.00	\$27.14	\$ 461.38	Pomeroy, N
	2.00	\$48.02	\$ 96.04	Prather, D
	-	\$29.19	\$ -	Ricaldy, A
	4.75	\$39.32	\$ 186.77	Ritchie, B
	66.00	\$29.19	\$ 1,926.54	Ramos, C
	13.50	\$29.91	\$ 403.79	Rodriguez, G
Ē	6.00	\$40.50	\$ 243.00	Teal, L
F	-	\$41.55	\$ -	Willard, V
	-	\$27.77	\$ -	York, R
TOTALS:	531.25		\$ 15,073.61	

## SUMMARY OF OVERTIME PAID AND COMPENSATORY TIME OFF ACCRUED